7/FT POOL TABLE

ASSEMBLY INSTRUCTIONS

ATTENTION:

Assembly have finished,please do not move it.
If you have to move ,pleasa black it up first.

IMPORTANT:

Please read through the instruction book before
attempting assembly to familiarize youreslf with
all part and assembly steps



PARTS IDENTIFIER

P2

//

g

TOP CORNER TOP RAIL(LONG) TOP RAIL(END)
4pcs 2pcs 2pcs
P4 P5 P6
PLAYING SURFACE LONG APRON SHORT APRON
1pc 2pc 2pc
P7 P9
APRON CORNER LONG BEAM SHORT BEAM
4pcs 2pc 4pcs

LEG SHORT PANEL
2pc

P12

4

TABLE GLIDES
4pcs

P13

BALL POKECT
6pcs

P14

MIDDLE CORNER
2pcs




P2

PARTS IDENTIFIER

#1 #2 #3

NN

{ m@
T4x15mm .
PHILLIPS SCREWS 1/4"x3/5" BOLTS 1/4"x25mmBLACK FLAT
4pcs 4pcs WASHERS 4pcs
#4 #5 #6
F4x45mm T4x40mm T4x15mm
PHILLIPS SCREWS PHILLIPS SCREWS PHILLIPS SCREWS
24pcs 18pcs 60pcs
#7 #8 #9
((((((((((((((((-
mm:@
5/16"x2" BOLTS 5/16"BLACK FLAT 1/4"x2-1/5" BOLTS
12pcs WASHERS 12pcs 8pcs
#10 #11 #12
TN
N1 ]

—
1/4"BLACK FLAT 1/4" CROSS DOWEL NAIL
WASHERS 8pcs 8pcs 12pcs

#13 #14

TOOL WHITE JADE

1pc 18pcs




P3 ASSEMBLY INSTRUCTIONS

WARNING: TWO ADULTS NEEDED ASSEMBLE POOL TABLE

FIG.1

FIG.2




ASSEMBLY INSTRUCTIONS P4
WARNING: TWO ADULTS NEEDED ASSEMBLE POOL TABLE

FIG.3




= ASSEMBLY INSTRUCTIONS

WARNING: TWO ADULTS NEEDED ASSEMBLE POOL TABLE




ASSEMBLY INSTRUCTIONS P6
WARNING: TWO ADULTS NEEDED ASSEMBLE POOL TABLE

FIG.5




il ASSEMBLY INSTRUCTIONS

WARNING: TWO ADULTS NEEDED ASSEMBLE POOL TABLE

FIG.6

P10

: «/%

\ N




ASSEMBLY INSTRUCTIONS P8
WARNING: TWO ADULTS NEEDED ASSEMBLE POOL TABLE

FIG.7




P9 ASSEMBLY INSTRUCTIONS

WARNING: TWO ADULTS NEEDED ASSEMBLE POOL TABLE

FIG.8




T&E SPORTS
) s

T&R Sports Online Instructions

Dear Customer,

Thank you for shopping with us.

We've tried our bestto state all steps clearly, but please understand that we couldn‘t draw all the
detailscompletely dueto the complexity of some steps. So we highly recommend you find and
watchthevideo instruction on the home page ofthefollowing websites. If you still have problem
with installation, please feel free to contact us.

Yours sincerely,

CustomerServiceTeam

T&R Sports
@ www.trsports.com.au 1300 655 308

k masontaylorliving.com.au customerservice@trsports.com.au

& e N .

CECIAS FIND US

NO MATTER WHEN. NO MATTER HOW.

[SYDNEY] | (MELBOURNE] [BRISBANE]
7/175 BRIENS ROAD, | 8 /29 BUSINESS PARK DR, 55 GARDENS DRIVE,
NORTHMEAD, NSW 2152 NOTTING HILL VIC 3168 WILLAWONG, QLD 4110
(02) B677 9897 | (03)9357 8882 (07) 3274 5001
[Mon-Fri) 9:00-17:00 [Mon-Fri] 9:00 - 17:00 [Mon-Fri} 10:00 - 17:00
[Sat) .~ 10:00< 15:00 [Sat] -~ 10:00 -15:00 (Sat} .~ 10:00< 15:00

ABN: 59 141 443898  PH: 1300 655 308 EMAIL: customerservice@irsports.com.au





